M E /T =-icmp_len_binary

http://www.ctf8.com/index/containers/ContainerOtherCtfDetail /53

/i Bl icmp_len_binary, J5Mll5 iemp fROCKE AR
FITTFEHE AT iemp IRZAGFHICIE (32bytes M1 64 bytes)

-
32
‘.icmp_len_bir;ary.pcap — [m} b
Z{H(F) SRIRE) IMERQY) SEVE(G) WEDEC) i) #RibS) RIS FofeW) TR #EENH)
A w2 ® TRE | ewET LS aa ariE
[ﬂCulrcnl filter: icmp B3 -+
Ma. Time Source Destination Protocal Length Infa =
== 1e.eeceea |3e.0.30.10 3@.@.30.5 ICMP 74 Echo (ping) request id
- 2 e.eee219 3@.0.30.5 3@.e.30.1@ IcMP 74 Echo (ping) reply id
3 1.881598 38.8.38.1e 3e.e.38.5 ICMP 186 Echo (piﬂg) request id
| 4 1.881E78 38.8.38.5 3e.e.38.1e ICMP 186 Echo (piﬂg) F‘Eply id
b 5 2.003241 3@.e,.30.1@ 3e.e.39.5 ICHMP 185 Echo (ping) request id
6 2.003458 30.0.30.5 30.8.30.10 ICMP 106 Echo (ping) reply id
7 3.984916 3@8.8.38.18 3@.e.38.5 ICMP 74 Echo (ping) request id
8 3.085228 38.8.38.5 3@.@.308.16 IcMP 74 Echo (ping) reply id
9 4.806575 3@.9.30.18 38.0.30.5 ICMP 74 Echo (ping) reguest did -
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Protocol: ICMP (1) L 28 5@ 56 87 eb 26 @@ 5@ 56 as a8 e@ 45

@@ 3c 7f 9b 4@ @@ 4@ @1 43 17 le @a le
95 @8 8@ 93 84 6f 3c o0 ea EF
ad
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Header Checksum: ©x4317 [validation disabled]

[Header checksum status: Unverified]

Source Address: 38.8.38.18

Destination Address: 3@.@.38.5
~ Internet Control Message Protocol p
Type: 8 (Echo (ping) request)
Code: @
Checksum: ex5384 [correct]
[checksum Status: Good]
Identifier (BE): 28476 (@
Identifier (LE): 15471 x3cef)
Sequence Number (BE):
Sequence Number (LE

~ Data (32 bytes)
Data: 32e8a
[Length: 32]
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@ ¥ Data (data), 32 byte(s) riE: 288 - BT 288 (100.0%) | ERE: Default
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:I|Currcnl filter: icmp B3 -+
No. Time Source Destination Protocol Length Info e
i 1 e.eaeeea 3@.8.3e.18 30.9.30.5 ICMP 74 Echo (ping) request id
E 2 @.08@219 39.0.38.5 3e.e.30.10 ICMP 74 Echo (ping) reply id
31.ee1598  [3@.e.30.18 30.8.30.5 ICMP 186 Echo (ping) request id
| 4 1.001878 30.0.30.5 30.0.30.10 ICMP 106 Echo (ping) reply id
L 5 2.003241 39.0.30.10 3e.e.3e.5 IcMP 1es Echo (ping) request id
6 2.003458 30.9.30.5 3e.9.30.18 ICMP 1e6 Echo (ping) reply id
7 3.084916 38.8.30.10 3@.9.38.5 ICMP 74 Eche (ping) request id
8 3.085228 30.8.38.5 39.8.30.18 ICMP 74 Echo (ping) reply id
9 4.086575 36.8.38.10 38.8.38.5 ICMP 74 Echo (ping) request id .
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Protocel: ICMP (1) £ 87 eb 26 88 58 56 a8 bf be @8 8@ 45

Header Checksum: @x4lfe [validation disabled] 94 4@ @8 48 @1 41 fe le 8@ le 8a le
[Header checksum status: Unverified]
Source Address: 3@.8.30.1@
Destination Address: 38.8.38.5

~ Internet Contrel Message Protocol

Type: 8 (Echo (ping) regquest)

Code: @

Checksum: @x9a95 [correct]

[Checksum Status: Good]

Identifier (BE): 28476 (@

Identifier (LE): 15471 x3c6f)

Sequence Number (BE): 56 (exelae)

Sequence Number (LEJT 1 (@xeeal)

~ Data (64 bytes)
Data: 15@2e26aaS@adBd4laddadadadadadadadadadadad
[Length: &4]
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@ ¥ Data (data), 64 byte(s) ST7iE: 288 - ER4~ 288 (100.0%) FAi: Default
A C(python3) JI] 01 A=
import pyshark

import binascii
cap =
pyshark.FileCapture('icmp_len_binary.pcap'tshark_path=r'F:\2025\001-Tools\Wireshark\tshark.e
xe', display_filter="icmp && ip.src==30.0.30.10")
cap.load_packets()
flag="
con="
for i inrange(0,len(cap)):
if cap[i].icmp.data_len =='32":
con +="'0'
else:
con+="1"
print{con)
#int(con, base=2)
#IXHLP con jE—A THEHIFIERTS (B o' AT "1 B int(con, base=2) FEIX A i il
AT R R
#ff, con="1101" £7EH int('1101", base=2), 455 LHEL 13,

#hex(...)
#hex() PRECHH BB T ONHERI AT A . R BIAIESREL tox TT ki N kil .

#9140, hex(13) 23R 'Oxd'.

#tHT hex() RIEIFIFRFAELL 'ox' TFRET, [2:] = LIREAETEL R T /NEsE .



# {40, 'oxd =R d.

#binascii.a2b_hex() ¥+ /NG FRF R HIOFIFEITH (bytes). EfHIALZ— PN RO
AR TN F AR TR o

print(binascii.a2b_hex{hex(int(con,base=2))[2:]))

cap.close()
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import pyshark MfF(F) UREE(E) BB(V) HER(S) IR FE(EB) #EH)

import binascii root@kali: ~/aaaa X root@kali: ~/aaaa ® [+
cap = pyshark.FileCapture( 'icn

&& ip.src==30.0.30.10") :~/aaaa# python3 icmp.py

cap.load packets() 6116601101118 01100119011_ 11810161

flag = l1ﬂ'| A10116006110 ||nn\r)1@11@ul 10001011

con =

biictfhub{6defedled5}"’

for i in range(®,len(cap)):
if cap[i].icmp.data len ==

con += '0'
else:
con += '1'

print(con)
print(binascii.a2b hex(hex(int
cap.close()

4 flag:
ctthub{04efed1e05}



